





























|z



\/real(x)? + imag(x)2



cos™—



—1
cosh™ " r



sin~



sinh~! 2



tan—



tan~1(y/x)



tanh

—1












II(n, k)





















cosh r



erf(real(x))



erfc(real(x))






n>0



x>0



E,(x)= [t "e " dt






gammal(real(x))



ibeta(real(p, ¢, x))









igamma(real(a, x))






lgamma,(real(x))



log, x






logy x






x>0



r <0






sin T



sinh r






tanor



tanh r



exp(—t°
= f (z pt)2+y






real(



(x +1iy))



e~ erfi(z)



w(z) =e* erfe(—iz)



erf(zx) = —ixerf(ix)









VP(z,0,7) = [T, G(z';0)L(x — 2;v)da’






column(z)









min(y)



max(y)



i | y; = min(y)



i | y; = max(y)












Xy -19)°



Sy =


















2|

ly—9



o,/VN



o,/V2N



6/N



\/24/N



